01.

02.

For the circular shaft AB, as shown
in the figure, a torque ‘T’ is applied
at the section XX at C, such that b/a
=1.5 shaft is umform in section 7; -7

a. 3

b. 1.5
c. 0.67
d. 0.5

Which of the following diagrams
indicates the shear stress distribution
for the beam as shown in the figure?
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03. A 40 mm diameter shaft is

04.

subjected to a twisting moment
M, . If max shear stress
developed in shaft is 5 N/mm?,
what is the value of the
twisting moment ?

a. 628.8 Nm

b. 638.4 Nm

c. 62.8Nm

d. 30.4Nm

Torsion applied to a circular shaft
results in a twist of 1° over a length
of 1 m. the maximum shear stre

induced is 120 N/mm? an
modulus of rigidity of the
material is 0.8 x 10° N/mm?2 .
is the radius of the shaft
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06. A circular shaft which has

diameter of 100 mm is
subjected to a torque of 5
kN-m. the max shear stress,
in N/mm?, induced shaft
would be

A, 160 B. 120
™
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of the following
epresents the torque
sponding to a twist of
e radian in a shaft over its

a. Torsional stress
b. Torsional rigidity
c. Flexural rigidity
d. Moment of resistance

. If a shaft turning at N .r.p.m

and the mean torque to which
the shaft is subjected is TN —m
, the power transmitted by the
shaft in kW would be

. 2xNT _ENNT
A, 22NT B. oo

2zNT 2=NT
C. D. 33000

:

12. If a shaft rotates at 100

r.p.m and is subjected to a
torque of 3000 N-m, the
power transmitted in kW

0 N-m and 400 N-m
00 N-m and 150 N-m
450 N-m and 150 N-m
d 300 N-m and 100 N-m

15, A solid circular shaft has been

subjected to a pure torsion
moment . The ratio of maximum
shear stress to maximum
normal stress at any point
would be
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16 . Which of the following terms

represents the torque that
produces a twist of one radian
in a shaft of unit length ?

a. Torsional stress
b. Torsional rigidity
c. Flexural rigidity
d. Moment of resistance

17 . A 60 mm dia. Shaft is subjected

to a torque of 6 kN-m. G= 8 x
10 N/mm?2 . The maximum
shear stress induced in the
shaft in N/mm? will be

A. 8000/9n
B. 4000/9~n
C. 12000/9n
D. 16000/9m



18. The circular shaft of diameter D
is subjected to a torque T. the
maximum shear stress of the
shaft will be
a. Proportional to D?

b. Proportional to D?
c. Inversely Proportional to D?
d. Inversely Proportional to D*

19. A hollow shaft of 16 mm outside
diameter 12 mm inside diameter is
subjected to a torque of 40 N-m.
the shear stresses at the outside
and inside of the material of the
shaft are respectively
a. 62.75 N/mm? and 50.00 N/mm?
b. 72.75 N/mm? and 54.54 N/mm?
¢ 79.75 N/mm? and 59.54 N/mm?
d. 80.75 N/mm? and 40.00 N/mm?

20. A metal shaft of solid circular
section rotates at 160 rpm anc
is subjected to a torque of 1500
Nm. What is the power, in kW, & c
transmitted by the shaft?
a. 32n
b. 16n
c 12n
d. 8n

21. What is the power transmitted
by a 100 mm diameter solid
shaft at 150 rpm without
exceeding maximum stress of
60 N/mm??

Take 2 = 10.

a. 187.5kw
b. 18.75 kW
c. 1.875kw
d. 1875 kW
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